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4. V2=a,V3=bz21
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ASZ2HEA V327 = 1.808 , V32.7 = 5.718 & T, T}& & 27
F O kel

O 327 = 18.08 @ V0.0327 = 0.01808
® +0.327 = 0.5718 @ 3270 =57.18

® /32700 = 180.8
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6. (2x+1)°-(x-2)" = Bx+a)(x+b) &, at3b ] FE FoHHE?
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(2x+1)2 = (x-2)?
=(2x+14+x-2)2x+1-x+2)
— Br-1)(x+3)

a=-1,b=3
SLa+3bh=-149=8
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9. T F RS ALNALa>0b>0)

O -+0.121 = -0.11
® 1
S
100
@ /(-1)2 o AlFE2 -1 °Jtt.
@moowd,_vfl P _ g o,

® A=-(va)%B= \/(-b)2 |, Ax B = ab °|t}.
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®A=-(Va)’=-a,B= \/(-b)2=b B2 AXxB=-




VIS+3T VI5-2F 2 554,27 3V2-1F &2 52 pat

S, b-a 9 F& FoHH?

@ 4 @ 2 ® 0 @ -2 @—4

B

@D VI8+3-(Vi5-2)= Vi8+3—- VI5+2>0

VIS +3> V15 -2
@2VT-(3V2-1)=2V7-3V2+1= V28— VI8+1>0
L 2VT>3v2-1

na=VI8+3=3V2+3,b=3V2-1
b—a=3V2-1-(3V2+3)=-40°]|t}.
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Aozt 52em 9 B2 AFs| 7 AN et e Polsh

St bem 1 AAAY = HE WHEL o] W, = A
&l 109 cm? A o, Holo] A-E F5HAH? (Ha>b>0)
@ 7cm? @ 13cm? ® 25cm?

@ 49 cm? ®)91 cm?

B

4a+4b="52°B2 g+ b=13

a’+b? =109

(a+ b)? - 2ab = a* + b*

109 = 169 — 2ab

s.ab =30

(a-b)? = (a+b)? —4ab = 169 — 120 = 49
a-b>0,a-b="7
.a’>-b*=(a+b)(a-b)=13x7=091
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13. f(x) = Vx+ 1= VxolaL S(x) = f(1) + f(2) + f(3) + - + f(x)
olztal gtet. 100 ©|5Fe] A noll tisted S (n) 9] ghol AA47}
HEng B 129?

@)s © I ©) F ORI ©) 'Y
Stn) = (v2-1) + (V3-v2) + (VI-+3) +
(Va+1-+n)=Vn+1-1
On=8¢ M, Sn)=3-1=2
@On=15¢M,Sn)=4-1=3
@n=34 M, 5n=6-1=5
@®n=504 ™, S(n) = V51 -1
®On=99d o, S(n) =10-1=9
m2tA @, @, ®, @7t goltt.
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14. f(a)= Va+1+ va @ ,m—f—m-l-"'—Ff(g)g%)\"%?‘ﬁ}
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@ V10- 5 ® VI0+ V5-2

fla) = Va+1+ va oA
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E}E’rﬂi,m+f(—5)+---+179):«/5—2+«/6—\/5+---+
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15. V143 9 g& a5k, Vb =1.105 € o, a,b 2] 32?2

T 0 1 2 3

1.0 | 1.000 | 1.005 1.010 1.015

1.1 | 1,049 | 1,054 | 1,058 | 1,063

1.2 1 1,095 1,100 1.105 1,109

1.3 | 1,140 1,145 1.149 1.153

1.4 | 1,183 1,187 1,192 1,196

® a=1.000, b=1.13 @ a=1.005 b=1.15
® a=1.049, b =1.42 @a =1.196, b =1.22

® a=1.192, b=1.23

FolA 143 2 20 1,196 ©|B 2 V1.43 = 1.196 ©|1, Al
0] ZFo] 1.105¢] A& o™ 192 o]E2 122 = 1.105
olct, Wt g = 1.196,b = 1.22 0]t




